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2 Do not write

outside the
— box
Section A
‘ Answer all questions in this section.
! Hydrogen peroxide solution decomposes slowly to form water and oxygen.
’ The reaction is much faster in the presence of a manganese(|V) oxide catalyst.
ﬁ 2H,0,(aq) — 2H,0(l) + Ox(g)
Three experiments, shown in Table 1, were carried out to investigate how the volume
of oxygen produced varied over time under different conditions. The same mass of
catalyst was used in each experiment. |
Table 1 '
Concentration | Volume of
Experiment of H,0,(aq) H,0,(aq) Tem;:oeéature Catalyst
/ mol dm™ / em®
1 1.0 50 20 lumps
2 1.0 50 20 powder '
3 0.5 50 20 lumps
|
Figure 1 shows how the volume of oxygen collected varied with time in
Experiment 1.
Figure 1
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: II] Explain, in general terms, how a catalyst increases the rate of a reaction.
[2 marks]

fesncte

A ¢ ajfalj&'% biL ?e.ef/’s D) (CaCkign$ bq Dpviding  an U
i J ! ‘_.
T}{;ﬁ :‘qw'uvt_ whichh V‘\Q_S' QG lowgr" actEvetion epergu.

e S

@ Draw two lines on Figure 1 to show how the volume of oxygen collected varied with
| time in Experiments 2 and 3.
Label each line with the experiment number.

[2 marks
See 5:’-‘-.,.'””-. ]

E’ Explain, in terms of collision theory, the effect of increasing the concentration of
hydrogen peroxide on the rate of reaction. |
[2 marks]

With inc/Cafe Contentrshon Ethee are Mol parkcles of
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Citric acid, CsHsO(COQH)s, occurs naturally in many fruits and can also be
synthesised in the laboratory for use as a food flavouring. A student anzlysed =
sample of citric acid to determine its percentage purity.

The student dissolved 784 mg of impure citric acid in water to prepare 250 cm” of
solution in a volumetric flask.

The student titrated 25.0 cm® samples of this solution with 0.0500 mol dm™
sodium hydroxide solution using phenolphthalein as the indicator.

C3HsO(COOH);(aq) + 3NaOH(aq) — CsHsO(CO0):Nas(aq) + 3H,0())

E The student rinsed the burette before filling it with the sodium hydroxide solution.

State why the student should use sodium hydroxide solution rather than water for the
final rinse of the burette.

[1 mark]
Bor s weder 1 ollockile be Hlbin |
l \)\ \,,'ja""’] '-r.u';'lﬂ- "{..,-' we iV (O] JCL-J:‘ V’C"‘,‘ rn?(_ (/1 IV L |
o, - ]

\J | e
et

| T l A - o AP
’rhf_’. SOV vV nvf{j: i T S
[V}

' EI The student carried out several titrations. The results are shown in Table 2.

Complete Table 2 to show the titre in each titration. )
[1 mark]

Table 2

Titration Rough 1 2 3

Final reading / cm® 252 | 2395 | 47.65 | 24.10

Start reading / cm® 0.0 0.05 23.95 0.10

Titre / cm® 252 2390 | 23-10| 24-00

=

E Calculate the mean titre using the concordant results.
Give your answer to the appropriate number of significant figures.

[2 marks]
2390 + 24-@0

)

) R —

Mean titre cm

T
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[0]2].[4] The total uncertainty when using the burette is £0.15 cm®. This is the combination of
uncertainties in the start reading, final reading and the determination of the end point.
Use your answer to Question 02.3 to calculate the percentage uncertzinty for the use
of the burette in this experiment.
% i A, R [1 mark]
O-15 " -£3 %0 100
--——'-"_"_-)kioa = 063/ "_-‘;-‘f.f‘. f
. 2395 o
|
|
| Percentage uncertainty %
E] Use your answer to Question 02.3 to find the mass, in mg, of citric acid dissolved in
250 cm® of the solution. .
The relative molecular mass (M,) of citric acid is 192.0 |
o .3 [3marks]
Conc = mal conC = val = mol O-05 x _2__51_-_*1_5 - I-!Q?Sﬂ-ami” |
’\-;a_l \@o¢ O{- Neol ia 'Zfimj, i
NPT . _ r _ y -3 cdnc acid '
;;L{I’Br_-f(i{:_ 2 3. 4A%l0 Tmeles x (0 = ?"('1‘)‘7‘_'“” _H' 3 |
ﬁ\u{{. ano ) - citn 2 pRrer BN Fraw :
i 3 oF AT ia 2res
Frotn ":--:1\%"'“1‘l e
o - . " - mafS :
s Hn note? S i A and = 26608 g
3.40x0-3 < 142:0 * O-F6§038 » 1000 "’ f:_‘j |
j = 'Y".'." o U-ﬁ_
F 66 mg
Mass mg
|
I E Calculate the percentage purity of this sample of citric acid. '
. [1 mark]
F66 e QPR
—— ] '_J_‘ ]
= =
. 9
Percentage purity %
Turn over »
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This question is about enthalpy changes.
‘II When ethanoic acid reacts with sodium hydroxide, the enthalpy change, AH, is
-56.1 kJ mol™
CH;COOH(aq) + NaOH(aq) — CH;COONa(aqg) + H:O(l)
Calculate the temperature rise when 25 cm® of 2.0 mol dm™ aqueous ethanoic acid
react with 25 cm® of 2.0 mol dm™ aqueous sodium hydroxide.
Assume that both solutions have the same initial temperature, have a density of
1.0 g cm™ and a specific heat capacity of4.18 JK™' g™
[4 marks]
(R=MmxC x AT cusHon
) i , fes of |
C % V = moles z.o,(& \]: O05meles ._:? c,mf}“ O O?i\\;;)’ [
to0s/  (Wgcoont i
: o~ N - 2.80S k]
A = Q AU xmales = (R 56-1 x OCo = 2-B05 Ky
2.$05=<1000 = 29057 AT S = |
M x <
LTz 2805 AT = 1T
50 x 413 A
oF 20 -‘n_.j - .:‘,._,‘.Jl
i
|
|
Temperature rise *C
T



7 Do not write

outside the
B S box
2 3 _T_I A student recorded the temperature of aqueous ethanoic acid in a polystyrene cup for |
three minutes.
At the fourth minute, the student added sodium hydrogencarbonate.
The student stirred the mixture and carried on recording the temperature every minute
for several minutes.
The student’'s measurements are shown in Figure 2.
A best-fit line showing the temperature before mixing has been drawn.
Draw an appropriate best-fit line on Figure 2 and use it to find the temperature
change at the time of mixing.
[2 marks]
Figure 2
18 -. i
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8

| The alkanes nonane and 2,4-dimethylheptane are structural isomers with the E
' molecular formula CeHas .
They are found in crude oil and can be separated by fractional distillation.
Both can be used in fuels or cracked to form other products.
nonane 2 4-dimethylheptane
LR sy ey
| L | [~ ]
H—(|3—(|3—{|3—C—C[:—C—C—C—C—H H—C—C—C—C—C—L—C—H
H H H H H H H H H H H H H H H H
boiling point 151 °C boiling point 134 °C
- . State the general formula of an alkane containing n carbon atoms.
. Deduce an expression for the relative molecular mass (M,) of an alkane in terms of n.
5 [2 marks]
: General formula CaH2ani 2
(b C=12 andk H=( 7. 12+ ZH :_,.,:
| |
Expression /Zf'n k2
@ Explain why nonane has a higher boiling point than 2‘4-dimethylhepfane.
[2 marks]
MMAQ wovu ‘Oj\ hf.‘_w'c" Mmore  Van ger Waa :'.S For @S betwee,
L. ¢ ; ¥ Lo e I' A i
MmolecweS as there Wwowld be more  oroesed Packing
Jue v the Straight chan o \lkcere  he '.’:"'ﬂ; Ng breach ,".i_ﬁ', -
|
|
I
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@ Give an equation for the complete combustion of nonane.

[1 mark] |

CalHio + 1407 — 9C02 + |OHLO

IZI Nonane is often found in fuel for jet engines. Combustion in jet engines produces

pollutants including nitrogen monoxide (NO).

Explain how this nitrogen monoxide is formed.
[2 marks]

Lr\‘z’Oqer\ w\(,l Oxygen 1N Ehe G\ Gre C‘.IJLE.J_(’J
UJ

Ceack Que 4o b h.c,H Tt%;)e’sﬁurj in Ehe :Aﬁ«.-\r

E Nonane can be cracked to form large quantities of propene.

Name the type of cracking used. ol Gues high o of alkeces.

thermal  crackn

5
||
T
L
"

E’ The main use of propene, formed from cracking, is to make poly(propene).

Draw the repeating unit of poly(propene).
[1 mark]

oo

M [

Turn over for the next question

o tic + Bacleck [1 mark] |

Turn over »
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|I| A hydrocarbon contains 87.8% by mass of carbon and has a relative molecular mass |
(M) of 82.0
The hydrocarbon decolourises bromine water.
) (2
_ Determine the empirical and molecular formulae of the hydrocarbon.
2 Suggest two possible structures for the hydrocarbon.
.-. ‘Name the type of reaction taking place when bromine water reacts with the
/hydrocarbon.
[6 marks] |
33 -3316 12-Z2 122
12. 1 |
*316 | 2.2 . [.6¢%
—— — i
231 731" |
x3 - 3 S s
(., 2 HS Z EmpiriCa i to/m u"-‘q
| |
I CsHs = 4l w2 = 82 C¢Hig 2 tolecular™=
2 lﬁu;‘m ulg,
H ki -IC. ol ] |
- _ L = |
: H P |
| & \//-\H . A |
(3 ' = A I
" [ '
N T o
- \)/ H H"__ o
H d
(&)  Electrophilic addition » Br-Br
2 ¢
T
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E@ Compound A is a halogenoalkane.
Compound A

H CHs Cl CHsH

N

H—C—C—C—C—C—H

’ ‘ | ’ )
|

H H H H H

. |Il Name Compound A. |phebehix | o Chlore bekve methyl.

[1 mark]

|
: 3(_\'\1‘0"0' 2\{-{'01;&1\'_ {:\’\\-1 L - pEKI"“M!\C

|
|
! @ Compound A has a relative molecular mass (M) of 134.5
The main isotope of hydrogen is 'H
The main isotope of carbon is '°C

Chlorine consists of two common isotopes, **Cl and *Cl, of which 75% is **Cl
The mass spectrum of A was recorded when A was ionised by electron impact to form

A’ ions.

Draw, on Figure 3, the peaks for the main molecular ions in the mass spectrum of A.

Figure 3

[2 marks] |

Relative

‘ abundance ,

131 132 133 134 135 138 137

Question 6 continues on the next page

....................
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E Reaction of A with warm, dilute aqueous sodium hydroxide forms alcohol B.
\j; Name the mechanism for this reaction.
\l Qutline the mechanism using the structure of A shown.
k;_’, Include the structure of the product, alcohol B.
" P [4 marks]

' \l-..l . . =
Mechanism Nucleof hilie substi Fution

Qutline of mechanism

§- e "’
H CHs Cl% CHs H 5 :
TR IR LN
H—(‘Z—?—”C‘—C‘:—(‘:—H > ipeCe C = C=iC = =¥
! Ilf’ | I I ] I
HOH[H H H b ow Kou B
= oNown”

IR T W T
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E Reaction of A with hot, ethanolic potassium hydroxide gives alkene C.

(N

., Name the mechanism for this reaction.

State the role of the hydroxide ions.

QOutline the mechanism using the structure of A shown.

“Include the structure of the product, alkene C.

Mechanism  Elimirg Hon

[6 marks] |

Role of hydroxide ions Base

Outline of mechanism

H CHs Clg CHz H

T2 T Sl
H—L—C5-0—L—~C—H = u-L-e=C=0=a""
I P A o4
H H H H H '

[\ =
~—OH

Question 6 continues on the next page

Turn over »
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- E The infrared spectrum in Figure 4 is that of either alcohol B or alkene C.

Figure 4
100
Transmittance 50+
[ %
04— LB L —T1 7 F F 03
4000 3000 2000 1500 1000 500

Wavenumber / cm—1

Tick the box that shows the correct compound.
Explain your answer with reference to a bond and the wavenumber of its absorption.

Alcohol B

4
=

Alkene C v

no

[1 mark]

Explanation |t 15 not alcohel B a5 Ehere is

(@) 3230-3550m" .

—

R TTIR Rt T
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E@@ Compound D reacts with dilute aqueous sodium hydroxide in a similar way to A to
form alcohol B.

H

H—C—C—C—C—C—H

H

Explain why D reacts more quickly than A with dilute aqueous sodium hydroxide at

Compound A Compound D

L L

H—g—eC—C—C—E—H

T T . | |

H H H H H H H H H

the same temperature.

[1 mark] |

e (B o= .r-,L-—J-i. Ly L. =
C~-Vc s weaker than C-CL So bregles more

E’,wﬂ_v\ .

\J
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m Four compounds, all colourless liquids, are

butan-2-ol

butanal

butanone
2-methylpropan-2-ol

@ & o 0

Two of these compounds can be identified using different test-tube reactions.

Describe these two test-tube reactions by giving reagents and observations in each
case.

Suggest how the results of a spectroscopic technique could be used to distinguish
between the other two compounds.

[6 marks]

\/ Lr&Hw vse  “olleng ;gf“lm.]- whi ch weold Cf\«( o Si\ver

|
|

ﬁ'\u,a; ;‘H\ bu&"“nq-. bu{" u-'»‘u[ﬁ' }U‘«f nC (‘tc.(,e.w\ w,‘“\

the other +hree.

Now use acidllﬁlcu{ ,?C;erf.um Aichromghe which wodld chasge

Colour From orange tv giten for both botang) __Cg\_pL Outir-2-cl
v ]

bot wovld aot rescE with the othe~ two.

we couvld dis ‘Hﬂﬁ»‘-’&”"\ bei'ween bO‘}‘Qnoﬂe andl E-mc-{hj(.{?m}m-z-vi

bu\ U5if\‘1 ] f2 S(JCC{'(UJQ,?LA IS'J'L-\U«'\C qud u;nv( &
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20
Methanol can be manufactured in a reversible reaction as shown by the equation.
CO(g) + 2H2(g) = CHsOH(g)
II| State and explain the effect of using a catalyst on the yield of methanol in this
equilibrium.
[2 marks]
A Calraltj's% has np eklect on Ehe e d as it
[ﬂc‘fﬂﬁff_f ‘H\’_ rete of reschon i both the {OFM({
an) _bac bunads di:’mé.‘ons.
|
IZ] Give an expression for the equilibrium constant (K.) for this reaction. ” "
mar

—

Ccol Tl

A
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El A mixture of carbon monoxide and hydrogen was allowed to reach equilibrium in a ‘
container of volume 250 cm® at temperature T. '
At equilibrium, the mixture contained 0.340 mol of carbon monoxide, 0.190 mol of ‘
hydrogen and 0.0610 mol of methanol. |
i
Calculate the value of the equilibrium constant (K.) for this reaction at temperature 7. |
[3 marks] |
lcc = [cHzou] e = 006I0 |
— - ? 25011000)
LCOJ LHZ’} _____(:.,-—-—“—""_'r- B e
o340 _ /for1a0 2 o L o
_— K ( e V0 ' Vg M
(250li000) 2 50f0=*) L et
| kc‘:ﬂi‘-t— ‘k‘-(—’ = 0'3“ _1v.' .
| I8¢ x 0:S7%6 - o
|
|
' K. mol™? dm?®
- Methanol decomposes on heating in a reaction that is the reverse of that used inits |
manufacture. : !
~ (O ArSe -;'7’.\1“1/". |
| CH:OH(g) = CO(Q) +2HAQ) =~ * eciprica of e
| abae ISC
Use your answer from Question 08.3 to determine the value of K. for this equilibrium
at temperature T.
State the units for this value of K.
(If you were unable to complete the calculation in Question 08.3, assume a value of
K. = 0.825 mol™ dm®. This is not the correct value.) 3
[2 marks]
e = 872
O-3 I _
|
|
Value of K. 322
8
Units of K. ol “dm ™ ©

[T R —
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Section B

Answer all questions in this section.

Only one answer per question is allowed. \
For each answer completely fill in the circle alongside the appropriate answer.

CORRECT METHOD | @ | WRONG METHODS | ® | ® |=| & |

If you want to change your answer you must cross out your original answer as shown. IZ

If you wish to return to an answer previously crossed out, ring the answer you now wish to select

| as shown. @
|

You may do your working in the blank space around each question but this will not be marked.
Qnot use additional sheets for this working. /-’

A student has a 10 cm® sample of 1.00 x 1072 mol dm™ methanoic acid solution.
The student is asked to dilute the methanoic acid solution to a concentration
of 2.00 x 10 mol dm™ by adding distilled water.

Which volume of water should be added? |
[1 mark] |

: A 200 Cma : -y = |
| B 490 cm’ =k R % el el S0t =
C 500 cm® g : '
D 510 cm®
| :
|
i Which molecule does not have a permanent dipole?
| [1 mark]
| A CHaBI’ —
|
| B CH.Br, _
C CHBr; | E
D CBr, br— C =Br

Do not writa
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box
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[IE Which is the major product of the reaction between 2-methylbut-2-ene and

iodine monochloride (ICl)?

CH
A CHz—(‘S—CHz—CH;,,
'
CH,
B CHZ—C‘;—CH2 CHs
(‘:z ‘I
CHs o
c CH3—(I3—CH—CH3 1
cl |
CHs
D CH3—(|3—CH—CH3

I Cl

"
— !

[1 mark]

Which statement is not correct about the industrial preparation of ethanol by the hydration

of ethene at 300°C?

CoHi(@) + H20(g) = C:HsOH(g)

AH =

A The reaction is catalysed by an acid.

—46 kJ mol™

[=]

B The higher the pressure, the higher the equilibrium yield of ethanol. [ < |

C The higher the temperature the higher the equmbrium yleld of

ethanol. . &

av ll--’} Temf?¢ <4
/

..u.|. 2 -,..1 icry

- The Ch S

D A low equilibrium yield of ethanol is acceptable because unreacted EI

ethene is recycled.

[1 mark] |

Turn over b
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Which compound has the highest boiling point?
[1 mark] |

A butanal  Vi7le- ipole El
B butan-2-ol ;-'v.f dlefen '__1_._\,‘-,' oF

C but-2-ene V& ¢¢ wasly

=] |
D 1-fluorobutane f{;‘uc-‘-‘J,-«'-*'-:_ E’

[1]4] which statement is correct about the fractional distillation of crude oil?
[1 mark]

A A zeolite catalyst is used.
B Each fraction contains a mixture of hydrocarbons.

C Gaseous fractions are formed by breaking covalent bonds.

ojojolo

D The fractionating column is hottest at the top.

> B

EE] How many structural isomers with an unbranched carbon chain have the molecular

formula C4HsBr,? L— - ’
R v "’ ( - I.} Ij [1 mark]
D.C-C-C-¢- @) —c-c-csc- & Cre-cec
At u{.‘_. i~ B o . EI
85 @ c-ite. © -b-e-toge (Obemc-t [
c&6 '
D7 El

I TENIN I R R
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‘ The Maxwell-Boltzmann distribution of molecular energies in a sample of gas at a fixed
' temperature is shown.

Which letter represents the mean energy of the molecules?

[1 mark]
Y o [
B~ _
I
b N
\]
| A%
| “ >
| bl
|
i
CD
A =]
\"\ NoT offECT W)
5 »Y =]
/- - i . 1
D ~ Mmean enesly ( -.'11-.-'-‘&7,’ +p risht of maximum

Ethanol can be made from glucose by fermentation.

CeH120s — 2C,H;0H + 2CO,

In an experiment, 268 g of ethanol (M, = 46.0) were made from 1.44 kg of glucose
(M. = 180.0).

What is the percentage yield?

N o 1 mark

14409 oF §lucare = 1"4GE. [1hark]
A 18.6% oo i e . [=]

Mr qes ° .
B 36.4% :

\é w2 = moler of 16 <46z 'i 35 of
C 51.1% ethensl thead [=]
D 72.8% U6 . zc.4% [=]
?3¢ :

Turn over »
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Which species could act as a nucleophile?

A BH;

B NH,

C PHy n-f-i

D SiH.

AVR.IRIN

| ﬂ Which statement is correct about poly(chloroethene)?

A It has the empirical formula CHCL

to¥ A/vC

1 4
T I & lerC

B It decolourises bromine water. ~ @7 ¢

C lts brittleness is reduced by plasticisers. «

D Its polymer chain contains alternate single and double bonds.

notT Trve.

What is the enthalpy of formation of buta-1,3-diene, C4Hs(g)?

+112 kJ mol™
~112 kJ mol™'
+746 kJ mol™

~746 kJ mol™

o] [o] o] [o

o] [o] [o] [o

Substance Enthalpy of combustion / kJ mol™
C4H5(g) —2546
C(s) -394
Ha(g) -286
"“ 5 A_-'._m » e
.I‘ \ S 4+ v o ) L I’ :Q ’ }
='. . 5-1-,- : } '\ b o

[1 mark]

[1 mark]

[ TRNN DR W TN
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lzm A gas cylinder contains 5.0 kg of propane. —~ Civg

How many propane molecules are in the cylinder?

The Avogadro constant, L = 6.022 x 10%* mol™

A 6.8 x 10%
B 7.2 x 10%
C 6.8x10%

D 7.2 x 10%

@z Which sample of liquid has the greatest volume?

A 500 mg of pentane (density = 0.63 g cm™)

B 650 mg of propan-1-ol (density = 0.80 g cm™) 2. - C°

C 1.20 g of dichloromethane (density = 1.33 g cm™)

D 1.30 g of trichloromethane (density = 1.48 g cm™)

R & ]

E@ Which equation represents an initiation step?

A CH,CH,CHBr + Br, —» CHsCH,CHBr, + Br
BO; + CL — 0, + ClO
C RCH,CH, + H,C==CH, —> RCH,CH,CH,CH,

D CH4CFCl, —* CHyCFCL + Cl - forms Hwe

e Rl

END OF QUESTIONS

A

o %

50D

o] [o] [o] o] o] [o] o] o]

o] o] [o] o]

[1 mark]

[1 mark]

[1 mark]
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